

**e.Learning**

by  **Dr. M.G.R** EDUCATIONAL AND RESEARCH INSTITUTE



# Dr. M.G.R

**EDUCATIONAL AND RESEARCH INSTITUTE**

(Deemed to be University with Graded Autonomy Status)

Accredited by NAAC with 'A' Grade | An ISO Certified Institution

Maduravoyal, Chennai - 600 095, Tamilnadu, INDIA

**Topic** : **INVERSE OF A MATRIX**

**Subject Code** : HBMA18A01

**Subject Name** : ALLIED MATHEMATICS-I

**Delivered by** : Dr.P.Sona

Copyrights  
Reserved by



## INVERSE OF A MATRIX

Let  $A$  be a matrix of order  $n$ . Then matrix  $B$ , if it exists, such that  $AB=BA =I_n$  is called inverse of matrix  $A$ .

$$A^{-1} = \frac{1}{|A|} \text{Adj } A$$

**Note:**  $A^{-1}$  exists if  $A$  is non singular. (i.e)  $|A| \neq 0$

$$\text{Adj } A = [\text{Cofactor matrix}]^T$$

- Find the inverse of  $A = \begin{bmatrix} 2 & -1 \\ -4 & 2 \end{bmatrix}$ .

**Solution:**

$$\text{Given } A = \begin{bmatrix} 2 & -1 \\ -4 & 2 \end{bmatrix}$$

$$A^{-1} = \frac{\text{Adj } A}{|A|}$$

$$\text{Consider } |A| = \begin{vmatrix} 2 & -1 \\ -4 & 2 \end{vmatrix} = 4 - 4 = 0$$

$\therefore A^{-1}$  does not exist.

- Find the inverse of  $A = \begin{bmatrix} -1 & 2 \\ 1 & -4 \end{bmatrix}$ .

**Solution:**

$$\text{Given } A = \begin{bmatrix} -1 & 2 \\ 1 & -4 \end{bmatrix}$$

$$A^{-1} = \frac{\text{Adj } A}{|A|}$$

$$\text{Consider } |A| = \begin{vmatrix} -1 & 2 \\ 1 & -4 \end{vmatrix} = 4 - 2 = 2 \neq 0$$

$\therefore A^{-1}$  Exist.

$$\text{Adj } A = \begin{bmatrix} -4 & -2 \\ -1 & -1 \end{bmatrix}$$

$\therefore$  Inverse of  $A = A^{-1}$

$$= \frac{1}{2} \begin{bmatrix} -4 & -2 \\ -1 & -1 \end{bmatrix} = \begin{bmatrix} -2 & -1 \\ -1/2 & -1/2 \end{bmatrix}$$

- If  $A = \begin{bmatrix} -1 & 2 \\ 1 & -4 \end{bmatrix}$  verify the result  $A (\text{adj}A) = (\text{adj}A) A = |A| I_2$ .

**Solution:**

$$\text{adj}A = \begin{bmatrix} -4 & -2 \\ -1 & -1 \end{bmatrix}, |A| = \begin{vmatrix} -1 & 2 \\ 1 & -4 \end{vmatrix} = 4 - 2 = 2$$

$$(\text{adj}A)A = \begin{bmatrix} -4 & -2 \\ -1 & -1 \end{bmatrix} \begin{bmatrix} -1 & 2 \\ 1 & -4 \end{bmatrix} = \begin{bmatrix} 2 & 0 \\ 0 & 2 \end{bmatrix} \text{-----(1)}$$

$$A(\text{adj}A) = \begin{bmatrix} -1 & 2 \\ 1 & -4 \end{bmatrix} \begin{bmatrix} -4 & -2 \\ -1 & -1 \end{bmatrix} = \begin{bmatrix} 2 & 0 \\ 0 & 2 \end{bmatrix} \text{-----(2)}$$

$$|A|I_2 = 2 \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = \begin{bmatrix} 2 & 0 \\ 0 & 2 \end{bmatrix} \text{-----(3)}$$

From (1),(2)&(3) we get

$$A (\text{adj}A) = (\text{adj}A) A = |A| I_2$$

- If  $A = \begin{bmatrix} 1 & 2 \\ 3 & -5 \end{bmatrix}$  and verify  $A (\text{adj}A) = (\text{adj}A) A = |A| I$  .

**Solution:**

$$\text{adj}A = \begin{bmatrix} -5 & -2 \\ -3 & 1 \end{bmatrix}, |A| = \begin{vmatrix} 1 & 2 \\ 3 & -5 \end{vmatrix} = -5 - 6 = -11$$

$$(\text{adj}A)A = \begin{bmatrix} -5 & -2 \\ -3 & 1 \end{bmatrix} \begin{bmatrix} 1 & 2 \\ 3 & -5 \end{bmatrix} = \begin{bmatrix} -11 & 0 \\ 0 & -11 \end{bmatrix} \text{-----(1)}$$

$$A(\text{adj}A) = \begin{bmatrix} 1 & 2 \\ 3 & -5 \end{bmatrix} \begin{bmatrix} -5 & -2 \\ -3 & 1 \end{bmatrix} = \begin{bmatrix} -11 & 0 \\ 0 & -11 \end{bmatrix} \text{-----(2)}$$

$$|A|I = -11 \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = \begin{bmatrix} -11 & 0 \\ 0 & -11 \end{bmatrix} \text{-----(3)}$$

From (1),(2)&(3) we get

$$A (\text{adj}A) = (\text{adj}A) A = |A| I$$

- Find the adjoint of the matrix  $\begin{bmatrix} 2 & 2 & 1 \\ 1 & 2 & 3 \\ 0 & 5 & 3 \end{bmatrix}$  .

**Solution:**

$$\text{Adj} A = [\text{Cofactor matrix}]^T$$

The co factors are given by

$$\text{Co factor of } 2 = A_{11} = + \begin{vmatrix} 2 & 3 \\ 5 & 3 \end{vmatrix} = 6 - 15 = -9$$

$$\text{Co factor of } 2 = A_{12} = - \begin{vmatrix} 1 & 3 \\ 0 & 3 \end{vmatrix} = -3 - 0 = -3$$

$$\text{Co factor of } 1 = A_{13} = + \begin{vmatrix} 1 & 2 \\ 0 & 5 \end{vmatrix} = 5 - 0 = 5$$

$$\text{Co factor of } 1 = A_{21} = - \begin{vmatrix} 2 & 1 \\ 5 & 3 \end{vmatrix} = -(6 - 5) = -1$$

$$\text{Co factor of } 2 = A_{22} = + \begin{vmatrix} 2 & 1 \\ 0 & 3 \end{vmatrix} = 6 - 0 = 6$$

$$\text{Co factor of } 3 = A_{23} = - \begin{vmatrix} 2 & 2 \\ 0 & 5 \end{vmatrix} = -10 - 0 = -10$$

$$\text{Co factor of } 0 = A_{31} = + \begin{vmatrix} 2 & 1 \\ 2 & 3 \end{vmatrix} = 6 - 2 = 4$$

$$\text{Co factor of } 5 = A_{32} = - \begin{vmatrix} 2 & 1 \\ 1 & 3 \end{vmatrix} = -(6 - 1) = -5$$

$$\text{Co factor of } 3 = A_{33} = + \begin{vmatrix} 2 & 2 \\ 1 & 2 \end{vmatrix} = 4 - 2 = 2$$

$$\therefore \text{Cofactor matrix} = \begin{bmatrix} -9 & -3 & 5 \\ -1 & 6 & -10 \\ 4 & -5 & 2 \end{bmatrix}$$

$$\therefore \text{Adj A} = [\text{Cofactor matrix}]^T = \begin{bmatrix} -9 & -1 & 4 \\ -3 & 6 & -5 \\ 5 & -10 & 2 \end{bmatrix}$$

- Find the adjoint of the matrix  $\begin{bmatrix} 1 & 1 & 1 \\ 1 & 2 & -3 \\ 2 & -1 & 3 \end{bmatrix}$ .

**Solution:**

$$\text{Adj A} = [\text{Cofactor matrix}]^T$$

The co factors are given by

$$\text{Co factor of } 1 = A_{11} = + \begin{vmatrix} 2 & -3 \\ -1 & 3 \end{vmatrix} = 6 - 3 = 3$$

$$\text{Co factor of } 1 = A_{12} = - \begin{vmatrix} 1 & -3 \\ 2 & 3 \end{vmatrix} = -(3 + 6) = -9$$

$$\text{Co factor of } 1 = A_{13} = + \begin{vmatrix} 1 & 2 \\ 2 & -1 \end{vmatrix} = -1 - 4 = -5$$

$$\text{Co factor of } 1 = A_{21} = - \begin{vmatrix} 1 & 1 \\ -1 & 3 \end{vmatrix} = -(3 + 1) = -4$$

$$\text{Co factor of } 2 = A_{22} = + \begin{vmatrix} 1 & 1 \\ 2 & 3 \end{vmatrix} = 3 - 2 = 1$$

$$\text{Co factor of } -3 = A_{23} = - \begin{vmatrix} 1 & 1 \\ 2 & -1 \end{vmatrix} = -(-1 - 2) = 3$$

$$\text{Co factor of } 2 = A_{31} = + \begin{vmatrix} 1 & 1 \\ 2 & -3 \end{vmatrix} = -3 - 2 = -5$$

$$\text{Co factor of } -1 = A_{32} = - \begin{vmatrix} 1 & 1 \\ 1 & -3 \end{vmatrix} = -(-3 - 1) = 4$$

$$\text{Co factor of } 3 = A_{33} = + \begin{vmatrix} 1 & 1 \\ 1 & 2 \end{vmatrix} = 2 - 1 = 1$$

$$\therefore \text{Cofactor matrix} = \begin{bmatrix} 3 & -9 & -5 \\ -4 & 1 & 3 \\ -5 & 4 & 1 \end{bmatrix}$$

$$\therefore \text{Adj A} = [\text{Cofactor matrix}]^T = \begin{bmatrix} 3 & -4 & -5 \\ -9 & 1 & 4 \\ -5 & 3 & 1 \end{bmatrix}$$

- Find the inverse of  $A = \begin{bmatrix} 3 & 1 & -1 \\ 2 & -2 & 0 \\ 1 & 2 & -1 \end{bmatrix}$ .

**Solution:**

$$\text{Given } A = \begin{bmatrix} 3 & 1 & -1 \\ 2 & -2 & 0 \\ 1 & 2 & -1 \end{bmatrix}$$

$$\begin{aligned} \therefore |A| &= \begin{vmatrix} 3 & 1 & -1 \\ 2 & -2 & 0 \\ 1 & 2 & -1 \end{vmatrix} = 3(2 - 0) - 1(-2 - 0) - 1(4 + 2) \\ &= 6 + 2 - 6 = 2 \neq 0 \end{aligned}$$

$\therefore A$  is non singular &  $A^{-1}$  exists.

The co factors are given by

$$\text{Co factor of } 3 = A_{11} = + \begin{vmatrix} -2 & 0 \\ 2 & -1 \end{vmatrix} = 2 - 0 = 2$$

$$\text{Co factor of } 1 = A_{12} = - \begin{vmatrix} 2 & 0 \\ 1 & -1 \end{vmatrix} = -(-2) = 2$$

$$\text{Co factor of } -1 = A_{13} = + \begin{vmatrix} 2 & -2 \\ 1 & 2 \end{vmatrix} = 4 + 2 = 6$$

$$\text{Co factor of } 2 = A_{21} = - \begin{vmatrix} 1 & -1 \\ 2 & -1 \end{vmatrix} = -(-1 + 2) = -1$$

$$\text{Co factor of } -2 = A_{22} = + \begin{vmatrix} 3 & -1 \\ 1 & -1 \end{vmatrix} = -3 + 1 = -2$$

$$\text{Co factor of } 0 = A_{23} = - \begin{vmatrix} 3 & 1 \\ 1 & 2 \end{vmatrix} = -(6 - 1) = -5$$

$$\text{Co factor of } 1 = A_{31} = + \begin{vmatrix} 1 & -1 \\ -2 & 0 \end{vmatrix} = 0 - 2 = -2$$

$$\text{Co factor of } 2 = A_{32} = - \begin{vmatrix} 3 & -1 \\ 2 & 0 \end{vmatrix} = -(0 + 2) = -2$$

$$\text{Co factor of } -1 = A_{33} = + \begin{vmatrix} 3 & 1 \\ 2 & -2 \end{vmatrix} = -6 - 2 = -8$$

$$\therefore \text{Cofactor matrix} = \begin{bmatrix} 2 & 2 & 6 \\ -1 & -2 & -5 \\ -2 & -2 & -8 \end{bmatrix}$$

$$\therefore \text{Adj } A = [\text{Cofactor matrix}]^T = \begin{bmatrix} 2 & -1 & -2 \\ 2 & -2 & -2 \\ 6 & -5 & -8 \end{bmatrix}$$

$$\therefore A^{-1} = \frac{1}{|A|} \text{Adj } A = \frac{1}{2} \begin{bmatrix} 2 & -1 & -2 \\ 2 & -2 & -2 \\ 6 & -5 & -8 \end{bmatrix}$$

- Find the inverse of  $A = \begin{bmatrix} 1 & 0 & 3 \\ 2 & 1 & -1 \\ 1 & -1 & 1 \end{bmatrix}$ .

**Solution:**

$$\text{Given } A = \begin{bmatrix} 1 & 0 & 3 \\ 2 & 1 & -1 \\ 1 & -1 & 1 \end{bmatrix}$$

$$\therefore |A| = \begin{vmatrix} 1 & 0 & 3 \\ 2 & 1 & -1 \\ 1 & -1 & 1 \end{vmatrix} = 1(1 - 1) - 0 + 3(-2 - 1)$$

$$= -9 \neq 0$$

$\therefore$  A is non singular &  $A^{-1}$  exists.

The co factors are given by

$$\text{Co factor of } 1 = A_{11} = + \begin{vmatrix} 1 & -1 \\ -1 & 1 \end{vmatrix} = 0$$

$$\text{Co factor of } 0 = A_{12} = - \begin{vmatrix} 2 & -1 \\ 1 & 1 \end{vmatrix} = -(2 + 1) = -3$$

$$\text{Co factor of } 3 = A_{13} = + \begin{vmatrix} 2 & 1 \\ 1 & -1 \end{vmatrix} = -2 - 1 = -3$$

$$\text{Co factor of } 2 = A_{21} = - \begin{vmatrix} 0 & 3 \\ -1 & 1 \end{vmatrix} = -(0 + 3) = -3$$

$$\text{Co factor of } 1 = A_{22} = + \begin{vmatrix} 1 & 3 \\ 1 & 1 \end{vmatrix} = 1 - 3 = -2$$

$$\text{Co factor of } -1 = A_{23} = - \begin{vmatrix} 1 & 0 \\ 1 & -1 \end{vmatrix} = -(-1) = 1$$

$$\text{Co factor of } 1 = A_{31} = + \begin{vmatrix} 0 & 3 \\ 1 & -1 \end{vmatrix} = 0 - 3 = -3$$

$$\text{Co factor of } -1 = A_{32} = - \begin{vmatrix} 1 & 3 \\ 2 & -1 \end{vmatrix} = -(-1 - 6) = 7$$

$$\text{Co factor of } 1 = A_{33} = + \begin{vmatrix} 1 & 0 \\ 2 & 1 \end{vmatrix} = 1 - 0 = 1$$

$$\therefore \text{Cofactor matrix} = \begin{bmatrix} 0 & -3 & -3 \\ -3 & -2 & 1 \\ -3 & 7 & 1 \end{bmatrix}$$

$$\therefore \text{Adj A} = [\text{Cofactor matrix}]^T = \begin{bmatrix} 0 & -3 & -3 \\ -3 & -2 & 7 \\ -3 & 1 & 1 \end{bmatrix}$$

$$\therefore A^{-1} = \frac{1}{|A|} \text{Adj A} = \frac{1}{-9} \begin{bmatrix} 0 & -3 & -3 \\ -3 & -2 & 7 \\ -3 & 1 & 1 \end{bmatrix}$$

## Check your understanding!

1. Find the inverse of  $A = \begin{bmatrix} 1 & 0 & 3 \\ 2 & 1 & -1 \end{bmatrix}$

2. Find the inverse of  $A = \begin{bmatrix} 2 & -1 & 3 \\ -5 & 3 & 1 \\ -3 & 2 & 3 \end{bmatrix}$

3. Find the adjoint of the matrix  $\begin{bmatrix} 3 & -1 & 1 \\ -15 & 6 & -5 \\ 5 & -2 & 2 \end{bmatrix}$